10. Let u = 3x + 4
du = 3 dx
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Fsecatanad6~ fsecutanudu
= —secu + C
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= —sec—+ C
secg
13.Letu=lny
1
du = —dy
y

fia%}ﬂdy =ftanudu
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Letw = cosu
dw = —sinu dy
w
=~Inw/+C
= —In |cos u+C
= —In [cos (In y)f +C
14. Let u = ¢
du = " dx

e* sec (ex) dx = &sec udu

=In

sec u + tan u| + C
sec (e¥) + tan (ex)f +C
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15. Let u =Inx
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17. Use tabular integration with f(x) = x3 and g(x) = cos x.

e e T
J(x) and its £(x) and its
derivatives integrals

x +) cos x
3x2 © sin x

6x +) ~COS x
6 “ ~sin x
0 cos x
f x% cos x dx

=x3sinx+3xzcosx~6xsinx~6cosx+C

=% dx
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18. Letu = Inx d

<
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